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Electromagnetic Power Steering System
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Ackermann steering
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clear alliclesclose all;

L = 2.850; ¥=H[n]

t = 1.860: ¥HZ(n]

m = 1450; ¥ERFSE(1595ka) +
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1.6+10%4; %cornering stiffness|[M/rad]
(m/2)+b/(a+b); ¥ E load[H]
(a/b)+lr: ®HZ load[H]

stepsize = 0,001

= [R_min:stepsize:200] ;
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steer_in = atan(L./(R-0.5+t1);
steer_out = atan(L./(R+0.5+t]);
steer_in_des = stear_in*180/pi;
steer_out_deg = steer_out+180/pi;
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Deaster = tireR+tan(d,3+pi 1800 ; ¥3H-~E{2f
Dsteer = 0,75+t ireR: 82 ZH2|
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Fin = Wiy 2+cos(steer_in+pi 1800, A{R-0.5+t); Zinner F&Z[N] cen — R + 0.5t

Fout = Wi+ Prcos(steer_out+pi 1800, /(R+0,5+t); Houter F&E[H] -
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steer_in = atan(L, /(R-0.5+t)) + (k+v"2, /(g9+M)); 20T T EZ [rad]

steer_out = atan(L./(R+0.5+t)) + (ksv"2./(a+R)]; ¥HEZE ZEHF[rad]
steer_in_des = steer_in«180/pi; ¥2HE FEE2![degree]
steer_out_deg = steer_out+160/pi; ¥HFZE ZEZFf[degree]

Deaster = tireRstan(d, 3epi/180); BHLE2FE 4. 5dearee2 G112 I, SEEZ ZHE|
Dsteer = 0,75+tireR; sZEE T2

Fin = Wfsv"2ecos(steer_inepi 1800, /IR-0.5+t); Kinner T&H]
Fout = Wf+v*2+cosisteer_out+pi/180), /(R+0.5+t); Houter 2AIE[H]

Fnag_in = Fin+Dcaster/Dsteer; %inner tired| 2I2HEHF0EH= HAD(E
Fnag_out = Fout+Dcaster/Dsteers %outer tirsH 2UDEHHOEHE HAD(H

Ca = 1.6+1074; ¥cornering stiffness[N/rad]
Wr = (n/2)+b/(a+b): ¥=F load[H]
Wi = (a/bi«Wr; 895 load[M]
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Magnetic flux density norm (T)

:|:'7% 0.0091643

Magnetic flux density norm (T)

0.0091643
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Wagnetic flux density norm (T)
0.0077055

Magnetic flux density norm (T)
0.087966




03. COMSOLZ 0|&Zst ol
| Xz HO|N =2 O
=30 -29 -28 27 -26 -25 -2d -25 22 -2

| o007s | ooo7st | coo7sz | ooo7s3 | coorss | ooorss | ooorss | ocorss | ooo7se | o007ss |

20 -19 18 A7 -16 15 14 13 12 11
| 000761 | ooo7es | ooo7e4 | coorer | ooorrs | ooorrs | ooorer | ooorse | ooorss | ooorse |

-30°~0°~30° & CHI™Z(1A) 7t
SE X AHESEE

10 3 X 7 X X 4 3 2 1
oooz | ooosr | ooos2 | ooosa | oooea | oooes | cooes | oooss | oooes | oooes |

00168

00194

0072

00Ts

0018 00164

00189 00159 00205 00211

11 12 13 14 15 16 17 18 19 20
o021 | oozes | o023z | o024 | oozs | oo2ez | oo274 | oozer | owzee | oo3is |

21

22

23

24

25

26

27

28

25

30

00333

00352

00375

0004

00437

QlEG

00535

00597

00675

0.08TY

ZU=Z 7HIHHM =

oy 1




O
0.0486 —
0.0972 L

o
01458 (— - O Hl E:”
0.1944
0243

o2 Ofl) 26° &2

00436 | X|_
A

0.2888
04374
pesat ' ' | ' ' — 2D T(u)
LR - U 1

0.5832 -
06318 e

0.6804 /,,/ x|_

\
A
o

N

A
N2 %

uz

0.729
07776 l
08262 ,/
0e74s e
0.9234 e
0972
1.0206 e
1.0692 a5 - e
11178 e
11664 7
1215 yd
12636 A
13122 e
13808 , , , , ,
14094 0 5 10 15 20 25 30
1 AGA




= 0|25t §H A
03. COMSOL on = 2DTW)
: = o O| 7R 2 Sfut
7t/ ; B—_rl
o A |:||
=l F 7ﬁ F 2
o o -+ (o) = =
0°~30° 2O OtCt 217t sfofet M/ A7 2.
EES il—m iil-:w 3? 8% . | e EMMEOI z 3% FPEE] Ha 23 |egz  [amene [gone |=ER | Iz | EHd a2 a3 ga MATE | EHEe (& BER.
e e el R P e s |ZEE 4B (W (A | BN O |4 O gy SESF. (W |am. | B4 A% By 9
®ME 37, |BE 3 0155, Em 27 | Eg 37 g8 =27 | #& 27
7|
a . . : : . I 0. . A A Al
[degres]. | [m]. N m- A1 1Al A1 =0 0. 0. : W 3 y ;.II_J:LF 0. Q. Al IA] A
10mfs- -
1 : 00579, 2252018, 2.252918.| 4.505838
- - 1. . O-Bdeg- | 1- . . 00728 - 2832685, 2832685, 566537
i : 0.0819, 3150 315 63 . - 0038. | 2957138| 2557198 5914397,
3 0.1017,| 3.896553. 3.896553.| 7.793105 15deg. . 2. 02 54. 19022, | 0.1031. 3.965385. 3965385, 793077
4. 01149 433585, 433385| 86717 . 2. . . 0 ) ) |
2 00436. | 3830769 3830769 7661538 7. _ _ 01225 | 2770115] 2770115 ] ss2023.
5. 3351, 3346] 01317 521115| 426367 947482 : - E—— ——
6 01422 581992, 3873945, 9.599865 i ) i 00616. | A720307) 4720307) 34406131 1 4. 46.7- 381.13. | 01458 5.50566. 5.50566.( 11.01132,
7 . 01536, 6.435065.| 3465035.| 9.900095 : 4 : : 00724. | 5539623 5.539B23| 11079254 . 5. . . 01624 . 6425803 5257557 11.68346
8 0165, 7.04698. 3.020135. 10.06712
. 5. 3451, 12988 | 0oBs2. | 6742445 5516546 12.25859. . . - .
3 01737] 748707| 249569 998275 & 31.37. £73.07. [ 2783 7321968 4881312 12.2032B-
10, 171 6742] 01008 825074 2064935 1032468 ' & : ' 005234 | 7.558524) 50390161 1250754, . 7. 0.1929. 2081538, 4.351586 | 1243313,
11, . | | | . T. i i
019806] 8353404/ 1.506008 | 10.04005 - : : 003343.| 8.335418| 4488302 1282372/ 8. 23.69. 766.71. | 02089. | aasedss| s7arvoes.| 1262355,
12, : 020532 878103 097567, 97567
8. s - 010862 | 9.107259{ 3203111 13.01037
13 : 021258, 8964045, 0471792, 9.43584
14, ) 0.21984,| 9.16, 0 9.16 9 . . 0.11376.| 9.B0GESS( 3.26B965( 13.07586.
I 157, | 0247) 02271 9084 0f oo R 1759. | 26177 |20, | 1046754] 2616884 1308002 ]. 2| ZRE 2 g2 |&x | WWMHTE | EoEs | F ER
16 . 023454 895191, 0| 895191 1‘| — . - EEEE. | E. AMFD. | B4 A7 | B4 25
7 _ 024198, 2831385, o sa31383 ' ' ) ' Dizesd. | 1030475 ) 1324368, 1282312, Hy =7, | @R =27,
18, : 024942 869059, 0| 869059 : 12. : . 013218.| 1130608 1.256225 1256225 s ) m- Al Al [A]-
19, . ¥ | s | | & - M-
e e e S D D B = e 2
. _ 0271261 B1as9%5. ol 2aaseas - n . . Didag.| 11955 o| 1198 0-5deg. | 1 209.84 187.88. [ 09024 | 33584436 3984436/ T.96BET.
2 . 027822 7.803975, 0. 7.903973 : 15: 18 39781, | 01491 11928 o] 11328 z 105.27 3TET. [ 07449 5.573075 5.573075 11.14816
25, : 028518  7.6048, 0| 76048
vy . Py p—— ol 723119 3 T0.41 Eed 9 01776 6.8046 6.8046 136082
2. 7.05. 178.15{ 02991 6844395, 0, 6.844395 AIEE' = X‘l %% Ol 7| _?_l |-O:| : 4. 5297 75422, [ 0.2052. 7.743395. 7.743395.( 1548679
il : 020594 629505, 0] 629508 ° o OIS O-l ; 5. 4251. 94395. [ 0.2296. | 9oRAg95| 7.433096. 1651734,
27, ] 031278 5846355, 0 5.846355 5 ~ '] 3 =S Ol- | T AA O
28. . 031962, 535377 0. 535377 A I:I : L |- = = Ol
29, : 032646, 4836445, 0. 4.836445 o Ol E—I — |—7)|— _I | = 4 O—I O-” O X — 7|—
T -1 TT
30. 587, 22087{ 03333 379181, 0 379181 14 — T — — — = —




04

SIMULINK & =t &




04.
SIMULINK 2=
2

40
el




e =
/ \ )/ |
\\ / \\
\ - —
\ [ \\ /E2
“




()/

Desired_Vehicle_Angle

Desired_Vehicle_Angle |

[]]]
%

&
&




()/

Desired_Vehicle_Angle

Desired_Vehide_Angle |

Desired_Vehide_Anga
Desired_left
Controlled left
Desired_right
Controlled_right




()/

Cye—— e

Desired_Vehicle_Angle

0.
0.
05
-0.5
-1
-1
=15
L1 — Desired_vehide_sngle
—— Desired_laft
—— Controlled left
——— Desired_right
——— Controlled _right
.25
10 15 40 45




e,

1. 28| M= HE Al Xp7| XHm|off 612{=0] AL
2. Xp=£0| 30m/se M 2|782E0| 0= & X|Lt= BO[A HO{7F MEH=
0 Eo.xlxl OFOl[C

LS )\A

>+

3. EfO|O{e} X|Ho| = WA, X[HO| &El, ErO|0{] & & Ciot
HF 02{0HK] ZoLRALC

4. Comsol Si{A Al 2D Cut-line A730] e} A= 0f| XO|7F B}
O EtFst 2f 2780 0]2{Z0] /UL

5. 2K T E A|AE0| O A EAUF ErEotX[of Cfer EEHO| =

7|'30|'N\E|'




1)

Rollaclub.com/board/topic/72032-ke70-steering-problem-ackerman




Thank you




